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Wikipedia (http://ja.wikipedia.org/)€
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"The Computer Language Benchmarks
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. ocamllc#load "‘graphics.cma' ;;
EANUTEnterk— (#’E)\T]a'éué:)

. EHBICGraphics.open _graph """ ;
. Graphics.draw_circle 100 100 50 ;;
exit O ;;
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3. 1 ABlFocanl &EREHC.
WTROZ2D750%FE1T70CTHT D

#load "'unix.cma' ;;
open uUnix ;;
establish _server
(fun 1Cc oc ->
print_endline (input _line 1c))
(ADDR__INET
(inet_addr _any, iv—kES))
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4. 2ABlFocamlEREJL,
WTRO2D750%FET73 S

#load "'unix.cma" ;;

open Unix ;;

let (iIc, oCc) =
open_connection
(ADDR_INET
(inet_addr_of string "IPPRLR",
h—hES)) ;;
output_string oc "Hello, world!'¥n" ;;
close out oc ;;
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OCamliC\T, €-> EALUTEIAIL...

o 2D%75 X177 in OCaml; (ISBN 978-4-7741-3264-8)
o 2D7FHXI7OVEEE | (ISBN 978-4-7819-1160-1)

e "APIOCaml; (ISBN 978-4-8399-2311-2)
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> sml

Standard ML of New Jersey, Version 110.0.7,
September 28, 2000 [CM; autoload enabled]
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val 1t = 3 © iInt
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o EEY. 0 123 ~45610&
o ;FENNERERE: 0.0, 1.23 ~4_561&

o BTER 3\, + 3\, I, - I\, 3\, * 3,

e BBERL: KX, div,, &, mod X,

o FHENNEXREZOZLIR: 3\, / 3\,

o tIILINIT, tL] EIT, tDLIIET, (REXALO):
floor 3, ceil 3, trunc &, round 3

o BADSFENNFRFNAONER: real 3\




NS SBTGINEE 22

o iRIBfBE: true, false
o ERIBRR:
not 3\, 3\, andalso 3\, 3\, orelse 3\,

o LLER: 5%1 = 5%2, ﬁl <> Evz, 5%1 >= :T:V'zfd’é:“

o }XFH: ""abcde™, "Hello, world!¥n"ig&
o XFHIOqEE: 3\, " 3\,

e NwADZEN: ()
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ROAZFHMUTHT, SREEFEES.
123 + 456

1 + 2 * 3
(L + 2) *3
/ - -8

/ - ~8

10 div 3
~10 div 3
~10 mod 3
10.0 /7 3.0

1.
2.
3.
4.
5.
6.
7.
8.
9.
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B = OMEOER

o EIXBlint, FEMNEZKRAKEreal,
sRiEERIbool, XFFIEstring,
AL
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-1.2 /7 3.0 ;
val 1t = 0.4 : real

-1.2 / 3 ;

stdIn:18.1-18.8 Error: operator and operand
don"t agree [literal]

operator domain: real * real
operand: real * iInt
INn expression:

1.2 /7 3

- 1.2 / real 3 ;
val 1t = 0.4 : real
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